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|s there a limitation on the
number of delegates to
Lahor-Management
meeting?
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According to article 19 of
regulation of implementing Labor-

Management meeting laws.
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Waz=NExREE
The number of the Labor-Management representatives which
attending the Labor-Management meeting should have more
than half of the Labor-Management representatives.
After the negotiation which reach a consensus, it should be
turn into conclusion;
Anyone cannot reach a consensus; its conclusion should have

more than three quarters agree by the representatives which
attend the meeting.
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The number of the Labor-Management representatives which attending the Labor-Management meeting should
have more than half of the Labor-Management representatives.

After the negotiation which reach a consensus, it should be turn into conclusion

KPP EH—F > KR—F > A RBFH MEEHR—F
Each one more than half: each one more than half, more than half is half ;not equal half.

FERFREAR ABFHZ BT HEX
The number of the Labor- More than half attending Formula

Management representatives

£ 2 A(Two people) Z & 2 Alatleast two people) 2/2=12>1

% 3 AdThree people) Z & 7 Alatleast two people) 3/2=1.52>1.5

% 4 A(Four people) £ A& 3 A(atleast three 4/2=2 352

people)

%5 A(Five people) E 2 & 3 Alatleast three 5/2=2.53>25

people)

£ B A(Six people) E A& 4 A(atleast four people) 6/2=3 4>3

DA %5 $E(and so on)

WO EEEARLEBE > HRARBAHEEARESZZULZEE
Waz = BBz = s KRNAZZ  MESERNFZZ -
Anyone cannot reach a consensus, its conclusion should have more than three quarters agree by the
representatives which attend the meeting.

More than three quarters: more than three quarters, and not equals three quarters.

HER A Rl & HE K

The representative Agree Formula

= 4 ) (four people) % ‘i (at least four people) | 4%(3/4)=3 4>3

3,H\: 5 A(ﬁ\f“e people) % ‘breg{it (at least four people) | 5*(3/4)=3.75 4>3.75

4 6 A (six people) % & {1 (at least five people) | 6*(3/4)=4.5 5>4.5

It 7 A (seven people) | % {i(at least six people) | 7*(3/4)=5.25 6>5.25

DL EE #E (and so on)




